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(486) (1,100 (105)
RS T48EF X 120N X 107M x 23 = 640290  (37422)
{1,100) (105)
mias /OFY X 12008 X 1W07TH x 23 = 32,528 (29.260)
10. BRFALASR (%8 4850 1737~ F 4 M)
(186,790) (67
183,704 1Y x 1A X 1 aE = 13,043 (12,515)
[H 3R DR A S IR R PIAR)
A B - Wik Mﬁ:g% I
H H
(918 ) (105 {96350) | ¢ 500X SH) + ( 186,790)
872 1A% 1 M= 931,304 { 15,100 X 4iQ) = 85,4001 5,000 183,704
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65600 [ X 20[MHRE X 2 = 2624 (2624
3) IHEER @
2010 ¥ x 105 % 13 % 7# % 28 = 9849 (9,849
4) BEFAXRR @
122550 X 105 X 113 X 1 x 2@ = 6003  (6,003)
5) BauLHai @
55018 x 105 X 18BA X 0EKAR X 2M@ = 415 (416)
6) BRREHFI25EE @
20000 19 x 105 X 20EARE X 2 [ = 840 (340)
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1) £ S10FH X 105 X a/ x  2[ = 42840 (42,840)
2) W 650 FF % 108 X B X 4R X 28 = 21385 (21,385)
3) 10FH X 105 X 208 x 20 = 5040 (5,040)
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1) BEns
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1) BERE
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482009 X S00A X 2§ % ¥ X 20 = 51,840  {46272)
3) BESDES @
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4) FREESEH @
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2 (BA) | 2 10( 500 X 37 5= 300/300 X 2/ § = {20 1200/ 300 X 3/ S = 180]3hX 2 AX 7HX 21-A= 84
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1325 530 9,500 795 2,868
1. BRERSE ¥ 105844 (87,301
M SHE (ERLw) @
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343,000 X 50/ 100 19200 2 f 3 18050 + (1,700 X 1 + 8700 )
e X SH ®X2/3
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(256,420) (50)
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WFEE 0000 M x 1L,50AF X 107H /18 X 08 X 110 8,665  (13,605)
(600) 105
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@ (105)
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5 HBaHR @ 19,048 £ X 105 20,000  (20,000)
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) RRER 200000x 1 X 1100 2 e}
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{256,4200 (2,400)
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5. ERHIRARR 56918 (31,556)
EfFER @
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() EARER @ *  T0I00PIX  6A X 2 = 841 841y
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2. REEHTR {900,875)
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5 gEahen
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[HEEHETAR]
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A FEH R OE 1 ~ 5§ 23866 (23,308)




(327

Wy : FH)
R 13 4 HE| 4R IE BB
¥ H R U H A miﬁﬁ?ﬁm%ﬁm,ﬁAﬁm i # %% B
(194,976)
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{600)
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(8) BErilLe 302,300 463,330 161,030 &8 %
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1) BREETFReE
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4) MEELRT @
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3) e
12070 X 105 X 0% X 18 = 2520 (2,520
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3) BELRER =7 @
10000 % X 105 X 128 X 4H = 42 “42)
4) EERERA ®
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5. RepERRINa()
(1} Bafeny (105) (73)
546.51 MAX 107 X 75 af@iX 2 E= 8,771 (8,378)
(BUEBAIR)
1 REERR 2.60 FaX 70 A= 182.00 b4
o £in 9.20 AX TOAX 1/ 2= 32200 I'F
N OBEIENE 1407 FAX 3 B = 42,51 ¥
HA Bt ~n 546.51 M4
(2) HHEkR
1 £E8/
OEMEMER

(349.77) {(105) ( 2,396)
34706 MAX 107 BX{ 2,26B A- 25 A)X2/3 X 04 X1/74X2E=11,109 (11,610)
Qo PEARTILTAT
(349.77) {105) {536)
347.16 °AX 107 B{X 967 A X 2/3X 04X1/4X2B8= 4,789 (2,625)
Q%A
{348.72) {105) {3,635)
346,15 FAX 107 AX 3,740 A X 2/3X 0.665X1/4X2H= 230,706 (29,503)

@ERUSBELI LT T
{348.72) (105) {195)
346.15 F&X 107 BX 168 A X 273 % 07 X1 /74 X2E8= 1,452 (1,666}
® =7HA
(348.72) (105) {(i11)

346,15 FAX 107 AX 167 A X 273X 04X1/4X2H= 825 (542)
@ERUS YT EFLF14 P

(349.77) (105) (63)
347.16 F¥X 107 BX 70 A X 273X 05X1/4X2E~= 433 (386)
4 O~® 49,314 (46,332)
O F=&
(918.40) (105)
911.20 FAX 107 @X 25 A X 273 = 1,625 (1,607)
Et 1~A 50,939 (47,939)

it {1y ~ (2) 59,710 (56,317)




(348)

(Bt FA)
TR13 & EHNEERR
T AR U W BMEEFHEHT o Ll A o mE R E
6. MERAE (REEEEAG)
ORAEME
(105) (2,396)
1,792 X 107 @X 2,268 AX 1/3 X 0.45 %1/2 X 2/3 X 2/3 = 14,496 {15,028)
QU=TEAET T T
(105) (536)
1,782 MX 107 BX 967 AX 1/3 X 045 %1/2 X 2/3 X 2/3 = 6,181 (3,362)
OBA
{105) (3,635)
1,171 X 107 @X 3,740 AX 1/3 X 0.45 X1/4 X 2/3 X 2/3 = 7,810 (7,449)
@BRRUESEERTT(T
(105) (185)
1,171 VX 107 AX 168 AX 1/3 X 045 X1/4 X 2/3 X 2/3 = 351  (400)
®>=THKR
(105) (111)
1,792 F'AX 107 @X 167 AX 1/3 X 045 %1/2 X 2/3 X 2/3 = 1,067 (696)
@BRUE YT - H5LF4TF
(108) (63)
1,792 X 107 BX 70 AX 1/3 X 0.45 %1/2 X 2/3 X 2/3 = 447  (395)
(0293174 L 32
(105) (238)
1,792 MBX 107 AX 201 AX 1/3 X 0.45 X1/2 X 2/3 X 2/3 = 1,285 (1,493)
*  O~0 31,637 (28,823)
7. ERAMLRGD
(1) EWERLE
OEERERR
(108) {2,396)
147.49 FIX 107 @X 2,268 AX 0.45 X 1/2 X 5/6 X 12 BX 2/3 = 53,688 (55,658)
@y ET TP
{105) (536)
147.49 FAX 107 AX 967 AX D45 X 1/2 X 5/6 X 12 BX 2/3 = 22,891 (7,805)
AOBA
(105) (3,635) {5/86)
147.49 FLX 107 AX 3,740 AX 045 X 1/4 X 17718 X 12 BX 2/3 = 50,169 (42,220)
@OEFRHEREH T LF T
{105) (195) (5/6)
147.49 FAX 107 @AX 168 AX 0.45 X 174 X 17/18 X 12 AX 2/3 = 2,254 (2,285)




(349)

(B : FF)
FE3 FE|HNERER
llﬁl’il)‘ﬂﬁaﬁfﬁfﬁ’fﬁﬁ.};gﬁm‘ﬁg—m mE R B
®YZTHA
(105) (111)
147.49 FIX 107 AX 167 AX 0.45 %X 1/2 X 5/6 X 12 X 2/3 = 3,953 (2,578)
OHEFHESI=F - #5747
(10%) {63)
147.4% FIX 107 AX 70 AX 045X 1/2 X 5/6 X 12 BX 2/3 = 1,657 (1,463)
QiahHRIERA
(105) (238)

147.49 FIrX 107 AX 201 AX 045X 1/2 X 5/6 X 12 AX 2/3

4,758 (5,529)

PED~D 139,370 (117,518)

(2) P5—4 - AT LBUREREY
ORUEME
(105) (2,396)
352.53 FibX 107 @X 2,268 AX 0.45 %X 1/2 X 5/6 X 12 AX 2/3 = 128,326 (133,034)
Qo=THENES T4 T

(105) (536)
352.53 KAX 107 @X 967 AX 0.45 X 1/2 X 5/6 X 12 BX 2/3 = 54,714 (18,656)
€y 3=
{105) {(3,635) (5/6)
352.53 KAX 107 AX 3,740 AX 0.45 X 1/4 X 17718 X 12 BX 2/3 = 119,914 (100,914)
QAERURBELSI LT« T
(105) (195) (5/6)
352.53 FaxX 107 @X 168 AX 045 X 1/4 X 17/18 X 12 AX 2/3 = 5387 (5,414)
®v=7HE
(105) {(111)

352.53 FAX 107 AX 167 AX 045 X 1/2 X 5/6 X 12 BX 2/3
GOREHESIZTF - FSLF4T

9,449 (6,163)

(105) (63)
352.53 ¥AX 107 X 70 AX 0.45 X 1/2 X 5/6 X 12 AX 2/3 = 3,961  (3,498)
OBAIEEA
(105) (238)

352.53 FX 107 @BX 201 AX 045 X 1/2 X 5/6 X 12 AX 2/73 = 11,373 (13,215)

JED~D 333,124 (280,894)

i (1) ~ (2) 472,494 (398,412)




{350)

(Hf : FRA)
R 13 5 | AW SRR e
I AR e 2 R e .
8. BRRBELREREH
(1) SRS
1 whEREH EE @
4,775,000 A@X  1.05 X 2 nE= 10,028 (10,028)
0 BIEHE)
478,800 AX  1.05 X 10 tsh= 5,027 (5,027)
N EREAN A0 (RERR) @
4,800 AX 105 X 100 tsb= 504  (504)
@ caEmA) @
24,000 @X  1.05 X 100 tsb= 2,520 (2,520)
O+@= 3,024 (3,024)
= BEER (-785)
O® 64,800 AX 1.05 X 32 n@= 2177 (2.177)
(105}
Wle) 506,72 FAX 107 @X 32 »E= 1,735 (1,703)
O+@= 3,912 (3,880)
T Aoty b@ (0)
(380,000 + 6,000 @)X 21 &X  1.05= 8,511 (0)
-G (0)
& 504,00 F'4X 107 AX 3,740 AX 1/2X 1/5= 20,169 (0)
(0)
QBEEHRRES 7 504.00 FAX 107 AX 168 AX 1/2X 1/5= 0908 (0}
O+d= 21,075 (0)
Bt o ~A 51,577 (21,959}
(2) Bg#IR - BN
1 RERER G {(105)
90,452.39 F#X 107 B = 9,678 (9,498)
0 EEMERG) (105)
83,744.58 MAX 107 M = 8,961 (8,793)
N A Iy bO (REED® (112)
2,000 @X 128 X 1.05X 133 & = 3,352 (2,822)
@ EEns)@® (112)
300@x 104 X 2EX 12B X1.05X 1334= 10,055 (8,467)
o+o= 13,407 (11,289)
= e (AEHe) B (0)
23] 22.00 FEX 107 MX 3,740 AX 1/2X  1/5X  128= 10,565 {0}
(0)
QBFHEFEY BT 22.00 FAX 107 AX 168 AX  1/2X  1/5X  12B= 475 (0)
O+@= 11,040 (0)
I 43,086 (29,580)




(351)

(WA 2 FM)
FRIZEENNEERR
!Iﬁﬂlfﬂﬁﬁﬁ&:f%%ﬁﬁ%ggmAmﬁ my x g
(3) WEHRT - B0
1 MBI
F8 8| xmeg T B - @igH WiTER | ARk B FHAR Bi{HET | &
A A H A @ A m A FA
(525,872) B pic! {1,185,895) {2,371,790) (7,115)
2| 30| 548,684 85,090| (4,500X30} + (13,500%29) 5,000 43,433 1,208,707 2l 2417414y 3| 7.252
= 526,500
o swEERr ()
{105)
1,350.00 FAX 107 MX 3 # = 433 {425)
n ar#nsy s @
(752,000)
726,000 X 105X 2 AX 294 X 3#= 13,447 (13,929)
g o ~1 21,132 (21,469)
& (1) ~ (3} 115,795 (73,008)
&5t 1~8 806,897 ({680,655)




(352)

(it : ¥A)
: FR1IFE [ HATEELER
¥ ARUHE ﬁﬁﬁ&?—ﬁtﬂ;};gﬂm‘lﬂﬁ m ® = B
(8) REWMIRFHFRR 62,119] 62,119 0 (M HRB 0)
* 466,360 X 60/100 X 6#A8 X 37A = 62119 (62,119)




(353)

(B F/)
T H R U H#HEB WEBETHH| TR EE| ¥ WEELY i* b % ®
F B H| B A ¥ H
PRHERE ERBER RO PHEI0ERE FRRIERE
( 3437623 ) (3666612 ) ( 3303019 ) { 3507904 ) { 3,629,008 )
HAFEN 3,546,214 3,768,246 3,905,653 3,576,429 3726317
( 3752082 )| [ 7395711 ] { 46345 )
(30 HEHBAYMIRRRBERR 3,846,382 4278,016 431,634 (PHitifyBL 48384 )
( 3043736 Y1 [ 7375 ]
LYPRERREICLELER 3,161,830 3,466,992 305,162
( 1332075 )| [ 468228 ] { 67 )
BB & ¥ . 1,335,476 1,421,737 86,261 (PIRTRBE 708 )
1. BRERR
(e a R
[ A & R IR | £ B R 1B ERR " £ & ERR i 8 & F #l H & &
(AR 2263 B 354R) " ® ] ] =] [E]] Al® A
| 27500+ ( 2600 X 3B) +| 150% 105X BEX {550 X 105 X 20AX [70X 105 4532 X 360 60X 105] 1850 X 105
(1300x 28| x @ 128 1@ x 128 X 1450 BXx 48 {X 1A X 2@] X 1500 8|X 3H X 2@X 2
( 1762)
= 738,000 = 15120 = 138.600 = 426,300 = 326304 |= 94,500 = 23310 1.762

=
i

vl



(354)

(Hif : M)
P H OE U R B MEETHHE|T R 3EE| YMEERE i H % -]
F HE "HimAx g
(2) i - BEER
E # R lﬁﬂf*ﬁbizﬂ 2 M & fr| E A )1 -4 | A OfF # ® R
@ A H@ A =]
RN HMIRLF HMAERLE BMELRE HMEL/E
fiRida] eI FREASAMENRER BEEmEf
2.000.000 ( 7000x 200 & + 20000 (RREB2IBITER)
X 105X 28X 2@ 1,000 #5 [ 27500 + ( 2600 X 3E) + | € 1000 A X 160 +
X 33X 2@ X 3EE) X 2B = 2920000 (13100 X 28D} %X 1A i REA
= 8400000 WP X 5@ 00 A X 80 +
50000 X 04X 2A X 2@
X 105 = 693,000 = 4.000 000 = 307.500 200 A X 80 +
el BEERSAMNKR
5000 X ZBEMIX 20 RFX 2@ { 27500 + (2600 X 20) + 50 A X 80}
= 400,000 (13100 X 1)} X 20 A
X 22X 2./5 X 2B = 408000
= 732800
HI-IYMFILRAY |72 R HI-EMERERE HI-EMEERRE
R HBER% HEEAHMRER FEIRBIRST
208> 11 ( 7000 x 30 &+ 20000 x 3 & | (KREMIB2HISE 2508 X 1 fiX 160
X 3E= 310000
X 330 X 105 RS { 27500 + (2600 x 28) + = 40000
50000 x 59X 2A X 30 (13000 X 1)} X 6 A
= 86,625 = 1.500.000 X 3EX 2./5
ki3]
5000 X 6AX 3@ = 90,000 = 320.760
( 8.400,000 ) { 779625 ) {8,720,000) { 1.370,060 ) { 448000 )
H _8.400.000 BF_779.625 B 9,720,000 Bf  1.370.060 3 448000
B O RS M OMOR 2 B i B & ki
H% [
HMRLE FIRLE
YRHERE RHRANS B—RBEH ()
‘ ; 000 X 1TAX 104F X 20 = 140,000 20000 X 3IFEX ZEX 105« 126000 LIRE A
N HBIKBE (W) 18,379
IE 20000 X IMEX  ZEX 105 = 126000 IR B R
BEBAS ) 2.857
20000 X I 2@X 105= 126000
( 21236 )
A 140000 (140000 ) i 378000 (378000 ) 21,236
] i i | &% (1) + (2) 22988 (22998 )

¥

P

i
kN
3




(355)

(g & 1)

AR U N OB WEEFHH| TR IEE(NHER LY it % %

&

2. HFEERR
(1) 477~ UPERER
OEHIZVE 54 77— 2 BNE
(4) 34 (B2) & ( 639,198)
639,09 FAX ( 6 AX A+ 12HX 50A) = 490504 (490,504)

(o) HEEEmES & ( 490904 ) {( 19185 )

490,904 X 19390 1000 = 95,186 { 94,180}
() FEREE % ( 490904 ) { o619 '} ( 450) ( 1000
490,904 X 00024 X 6194 / 490 = 1,489 (1,489}
(=) E-4g { 639,198 )
639,198 A X 4 A x 1 A = 2,557 ( 2557
(k) pEEEr @ 16500 M X 105 X 64 A = L 1,100
Aat {4) ~ (k) 591,245 (550,239)

P@EhIvEIS 77 -7HME (ACRARS)
{4} Bk { 639,198 }
639,198 FXx ( 6 AX 28 A+ 128 X 37 A) = 391,189 (191,189}

() iE&RBRie { 391,189 ) ( 1918 )

391,189 X 19390 /1,000 = 75,852 {75,050
(») AEREH ( 391,189) 0.619) (490) (1,000 )
391,189 X 0004 X 6194 / 490 = 1,187 {1,187}
[ 468228 ]
et (4) ~ {n) 468,228 (467.426)
& O+ 1,059473  (1,057,665)
(2) FA77-sUFEENEHN
BLA fiTE] MER XEH 8 4% - 8 8 B B P KR HATHER BIER it £ & & @
B A [} 2] &) 2] =) 2] .
. (7o brakity) ( 7200 % 78) + ()
i 5 7 ( 22500 X 6 H)
(569,500) = { 839075 ) (5.034)
557.080 35035 185400 4,140 5000 40 000 826,655 6 4960
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